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Decay Modes

Mode Signal Yield Background S/B Mode Signal Background S/B
(E<9) (109) Yield (103) (Ec*) Yield (103) Yield (103)
O-K+ 4.3 0.4 10.8 =TT+t 33.6 8.8 3.8
= 24.3 6.5 3.7 2+Km 6.0 3.5 1.7
SOK-Tr+ 6.7 4.3 1.6 AK-mr+T* 5.0 3.4 1.5
pK-K-mr+ 9.5 6.5 1.5 =0+ 1.4 1.1 1.3
=0t 2.5 2.4 1.0

AK-mr+ 15.7 11.3 1.4 AK O+ 65 24 0.9
="Tr+mo 15.8 13.2 1.2 0K Orr+ 11 15 0.7
=0+ 3.7 3.4 1.1 56.1 08 1 50
=T 90 98 1.0 < Decay modes for =¢*+ >
AKO 4.8 5.0 1.0
pK-Ks0 6.4 10.6 0.6

100.8 71 1.4
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< Decay modes for =9 >



Base Reconstruction

Base
= —> A+10
= —> A+1T
(9] —> A+K-
20 —-> A+Y
A —> A
2 —> p+10

Most bases come from A.



- And perform kmassvertex fitting.

N\ Recon.

+ Find A candidate from vee?2. . f
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N\ Recon.

lambdacut -lambdacut
120510 h106 120X10° h9106
n Entries 1128561 L Entries 1128555
= Mean 1.116 = Mean 1.116
- RMS  0.001513 - RMS  0.001513
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B 1 1 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 | I 1 1 1 1 I 1 1 1 1 B 1 1 I 1 1 1 1 I 1 1 1 I 1 1 1 1 I 1 1 1 1 I 1 1 1 1
(%.1 1.105 1.1 1.115 1.12 1.125 1.13 Q.l 1.105 1.11 1.115 1.12 1.125 1.13
< OLD. Lambda mass before kmassvertex fitting > < NEW. Lambda mass before kmassvertex fitting >

- Difference of # entries = 0.0005%
+ Due to significant figure, successive computation.



=0 Recon.

Lawbda

- Find A candidate from vee2. [ )
+  And perform kmassvertex fitting. // il
= mdt&&e

- =0 candidate = kmv fitted A + 1



- =0 vertex = intersection of two line. e

=0 Vertex

N vedex
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+ Assuming =° comes from |P. ,f

e = ver-ﬁ'ex
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Performing kmassvertex fitting using this vertex.



=0 Recon.

old Xi0 3rd Xi0 3rd
h913 h9913
— Entries 1169250 - Entries 1169261
2200/ Mean 1.315 2200 Mean 1.315
2000 - RMS  0.01706 2000/ RMS  0.01706
18005— 18005—
1600— 1600—
1400— 1400—
12003— 1200—
1000— 1000—
800— 800—
600— 600—
400 400
200 \ 200—
0:Jllllllllllllllllllllllllllllllll O:Jllllllllllllllllllllllllllllllll
1.28 1.29 1.3 1.31 1.32 1.33 1.34 1.35 1.28 1.29 1.3 1.31 1.32 1.33 1.34 1.35
< OLD. Lambda mass before kmassvertex fitting > < NEW. Lambda mass before kmassvertex fitting >

- Difference of # entries = 0.0009%
- Due to significant figure, successive computation.
- Very rough cuts are applied.



Decay Modes
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